m PARTNO QrY uom DESCRIPTION MATERIAL
1 A0563 1 EACH BEACON LIGHT BRACKET FOR ENCLOSED CAB SHIELD | ALUMINUM
3/8" VIBRATION ISOLATION MOUNT - 140LB LOAD
51.00 2 000976 2 EACH CAP. - 55A DURAMETER HARDNESS NEOPRENE
3 000054 2 EACH BOLT - HEX HEAD - 3/8-16 X 2.5 STAINLESS STEEL
4 PO554 2 EACH WASHER - FENDER - 3/8 STAINLESS STEEL
% 5 000244 10 EACH WASHER - FLAT - 3/8 STAINLESS STEEL
12.38
6 000224 6 EACH NUT - NYLON LOCK - 3/8-16 STAINLESS STEEL
¢ 7 000044 4 EACH BOLT - HEX HEAD - 3/8-16 X 1.25 STAINLESS STEEL
8 A1919 1 EACH TOOL BOX NAME PLATE WITH RIVETS
[ ] T
3.20
v ‘ t
o o @ 9.61 — ¥ q
10.62 (=0
34.13
FOR STANDARD 33.5IN —==
LEG SPREAD

3/8" VIBRATION ISOLATION MOUNT - 140LB LOAD CAP. - 55A DURAMETER HARDNESS

BOLT - HEXHEAD - 3/8-16 X 1.25

DETAIL A
SCALE 1:10

THIS DOCUMENT IS THE PROPERTY OF TREBOR
MANUFACTURING. ANY UNUTHORIZED REPRODUCTION
WILL BE PROSOCUTED TO THE FULL EXTENT OF THE LAW.

UNLESS OTHERWISE SPECIFIED,
DIMENSIONS ARE IN INCHES

REV.

TRBLBCAB51 G

PART NO.

BEACON LIGHT BRACKET KIT FOR ENCLOSED CAB SHIELD - 10IN HIGH

XX =21 o
XXX =015 ANGULAR =1
XXXX = +.005. TRACTIONAL=£1/8 | ppawWN SHAWN CROCKER 12/03/2020
THIRD ANGLE PROJECTION MATERIAL

©d

ALUMINUM

SIZE

A

DWG NO. REV.

D0569 F

WEIGHT

120 24.01 LB 1 0of 1

1



